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Answer the following five questions, equally weighted

FHRERESES LEE (5 KE, $£1004)

1.(20%)

Let X and Y be continuous random variables with joint pdf

- _[(3)(E-z-y), 0<z<2, 2<y<4
fxy (@) { ' 0, elsewhere

Find
(‘-a’)' lem(y), and
(b). P2 <Y <3a=1)

2.(20%)

Let Y7, Y5, ,Y;z be a random sample from
frw;0) =(00+1)°, 0<y<l.

Find the method of moment (BjZEfEST) estimators for 6.

3.(20%)

If X; are independent and X; ~ N(g, o?). The unbiased estimator for o%is
52 = EIEAY Fing Var(s?).

4.(20%)

Consider the following two variables OLS (ordinary least square) regression
(under ideal condition) through the origin:

)}1: :/Bthlz—i_BZXZz—i_’aw ’&':1,2,“' ')N'

Find YV 6:Xy; and Ef] 0; Xo; for this model.
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5.(20%)

An experiment consists of 5 independent Bernoulli trails. If Hy: p=1/3 is
tested against H; : p > 1/3 by using the following decision rule:

“Reject Hy if v, the number of successes, equals or exceeds 2”.
Find

(a). o, and

(b). B,ifp=1/2.




